BID EXECUTION BY A CORPORATION

The undersigned, hereby acknowledges having received Specification Number $\underline{1229849}$ containing a full set of Contract Documents, including, but not limited to, 1) Requirements for Bidding and Instructions to Bidders, 2) Standard Terms and Conditions - General Conditions, 3) Special Conditions for Supply Contracts, 4) Contract Plans or Drawings (if applicable) 5) Detailed Specifications, 6) Proposal Pages, 7) Certifications, and 8) Addenda Nos. (none unless indicated here) 1 & 2 _____, and affirms that the corporation shall be bound by all the terms and conditions contained in the Contract Documents, regardless of whether a complete set thereof is attached to this proposal or bid, except only to the extent that the corporation has taken express written exception thereto in the sections of this specification designated for that purpose.

Under penalty of perjury, the undersigned: (1) warrants that he/she was authorized to submit an EDS on behalf of the Disclosing Party online; (2) warrants that all certifications and statements contained in the EDS are true, accurate and complete as of the date the EDS was submitted on-line; and (3) further warrants that, as of the date of submission of this proposal or bid, there have been no changes in circumstances since the date that the EDS was submitted that would render any certification in the EDS false, inaccurate or incomplete.

Further, the undersigned being duly sworn deposes and says on oath that no disclosures of ownership interests have been withheld and the information provided therein to the best of its knowledge is current and the undersigned has not entered into any agreement with any other Bidder (proposer) or prospective Bidder (proposer) or with any other person, firm or corporation relating to the price named in this proposal or any other proposal, nor any agreement or arrangement under which any act or omission in restraint of freedom of competition among Bidders (proposers) and has not disclosed to any person, firm or corporation the terms of this bid (proposal) or the price named herein.

Proposals must be submitted with original signatures in the space provided. Proposals not properly signed will be rejected.

NAME OF CORPORATION:	MAT Asphalt, LLC.	
	(Print or Type)	
SIGNATURE OF PRESIDENT*:	16-1/1	
(Or Authorized Officer)	(Signature)	
TITLE OF SIGNATORY:	Owner - Michael Tadin Jr.	
	(Print or Type)	
BUSINESS ADDRESS:	4450 South Morgan Street, Chicago, IL. 60609	
	(Print or Type)	
*Note: In the event that this bid By-Laws or other authorization, si Corporation.	proposal) is signed by other than the President, attach hereto a certified copy of that section of Corporate uch as a resolution by the Board of Directors, which permits the person to sign the offer for the	3000
ATTEST.	(Corporate Secretary Signature) (Affix Corporate Seal)	710/
State of <u>Illinois</u>	County of Cook	
This instrument was acknowledge	d before me on this 24th_day of February_, 2022 by Michael Tadin Jr. as President for other	11/2
authorized officer) and Craig R.	Ockerlund as Secretary of MAT Asphalt, LLC. (Corporation Name).	
Releval to	(Seal) Commission Expires: 2 - (1-202)	
Notary Public Signature		
	gananag	

Execution Pages

OFFICIAL SEAL **DEBORAH M TADIN** NOTARY PUBLIC, STATE OF ILLINOIS

MY COMMISSION EXPIRES: 02/04/2025

2 Price Schedule

2.1 Line Information

Display Rank As Ranking Ranking Price Only
Cost Factors None
Response Total (USD) 504,174,725.50

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
1 Group A				No Response	
-NORTHEAST AREA					
1.1 GROUP A -		1,000	Gallon	2.5	2,500.00
ASPHALT PRIMER,					
EMULSIFIED -					
PRIMERS,					
EMULSION					
(PICK-UP) -					
NORTHEAST AREA					
1.2 GROUP A -		250,000	Gallon	4.4	1,100,000.00
ASPHALT PRIMER,					
EMULSIFIED -					
PRIMERS,					
EMULSION					
(DELIVERED) -					
NORTHEAST AREA					
1.3 GROUP A -		1,000	Each	40	40,000.00
ASPHALT PRIMER,					
EMULSIFIED -					
PRIMERS,					
EMULSION, 5					
GALLON BUCKET					
(DELIVERED) -					
NORTHEAST AREA					
1.4 GROUP A -		1,000	Each	450	450,000.00
ASPHALT PRIMER,					
EMULSIFIED -					
PRIMERS,					
EMULSION, 55					
GALLON DRUM					
(DELIVERED) -					
NORTHEAST AREA					
1.5 GROUP A -		1,000	Gallon	5	5,000.00
TRACKLESS,					
PRIMERS -					
PRIMERS,					
TRACKLESS					
(PICK-UP) -					
NORTHEAST AREA					
1.6 GROUP A -		80,000	Gallon	5	400,000.00
TRACKLESS,					
PRIMERS -					
PRIMERS,					
TRACKLESS					
(DELIVERED) -					
NORTHEAST AREA					
1.7 GROUP A -		400,000	Foot	9.7	3,880,000.00
TRACKLESS,					

Specification Number: 1229849

Type of Funding: CITY

Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
PRIMERS -	/ Job	Quantity		Price	
LONGITUDINAL					
JOINT SEALANT					
(HAND APPLIED					
METHOD FROM					
ROLL) (DELIVERED)					
- NORTHEAST AREA					
1.8 GROUP A -		1,000	Foot	7.8	7,800.00
TRACKLESS,		1,000	1.001	7.0	7,800.00
PRIMERS -					
LONGITUDINAL					
JOINT SEALANT					
(PRESSURE					
DISTRIBUTOR OR					
MELTER KETTLE					
APPLIED)					
(DELIVERED) -					
NORTHEAST AREA					
1.9 GROUP A - HOT		50,000	Ton	59.6	2,980,000.00
MIX ASPHALT - HOT		20,000	1011	37.0	2,700,000.00
MIX ASPHALT					
SURFACE COURSE,					
IL-9.5LH, MIX ¿C¿,					
N30 (CDOT)					
(PICK-UP) -					
NORTHEAST AREA					
1.10 GROUP A - HOT		600,000	Ton	82.2	49,320,000.00
MIX ASPHALT - HOT		000,000	1011	82.2	49,320,000.00
MIX ASPHALT					
SURFACE COURSE,					
IL-9.5LH, MIX ¿C¿,					
N30 (CDOT)					
(DELIVERED) -					
NORTHEAST AREA					
1.11 GROUP A - HOT		5,000	Ton	55.75	278,750.00
MIX ASPHALT - HOT		3,000	1011	33.73	270,750.00
MIX ASPHALT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(PICK-UP) -					
NORTHEAST AREA					
1.12 GROUP A - HOT		5,000	Ton	73	365,000.00
MIX ASPHALT - HOT		,,,,,,,	1011	, 5	
MIX ASPHALT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(DELIVERED) -					
NORTHEAST AREA					
1.13 GROUP A - HOT		1,000	Ton	60	60,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
BINDER COURSE,					
IL-19.0, N50					
(PICK-UP) -					
NORTHEAST AREA					
1.14 GROUP A - HOT		1,000	Ton	77	77,000.00
MIX ASPHALT - HOT		,			
Specification Number:					

Specification Number: 1229849

Type of Funding: CITY

Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
7.5777. 1.6777. 1.7	/ Job	Quantity		Price	
MIX ASPHALT					
BINDER COURSE,					
IL-19.0, N50					
(DELIVERED) -					
NORTHEAST AREA					
1.15 GROUP A - HOT		1,000	Ton	59	59,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿D¿, N70					
(PICK-UP) -					
NORTHEAST AREA					
1.16 GROUP A - HOT		90,000	Ton	87	7,830,000.00
MIX ASPHALT - HOT		,			
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿D¿, N70					
(DELIVERED) -					
NORTHEAST AREA					
1.17 GROUP A -		5,000	Ton	81	405,000.00
POLYMERIZED HOT		2,000	1011		105,000.00
MIX ASPHALT -					
STONE MATRIX					
ASPHALT, SURFACE					
COURSE, IL-9.5, MIX					
¿F¿, N80 (PICK-UP) -					
NORTHEAST AREA					
1.18 GROUP A -		5,000	Ton	97	485,000.00
POLYMERIZED HOT		3,000	1011	91	465,000.00
MIX ASPHALT -					
STONE MATRIX					
ASPHALT, SURFACE					
COURSE, IL-9.5, MIX					
¿F¿, N80					
(DELIVERED) -					
NORTHEAST AREA		5,000	T	(2	215 000 00
1.19 GROUP A - HOT		5,000	Ton	63	315,000.00
MIX ASPHALT - HOT					
MIX ASPHALT FINE					
GRADED SURFACE					
COURSE, IL-9.5, MIX					
¿D¿, N70 (CDOT)					
(PICK-UP) -					
NORTHEAST AREA		5.000		00.5	402 500 00
1.20 GROUP A - HOT		5,000	Ton	80.5	402,500.00
MIX ASPHALT - HOT					
MIX ASPHALT FINE					
GRADED SURFACE					
COURSE, IL-9.5, MIX					
¿D¿, N70 (CDOT)					
(DELIVERED) -					
NORTHEAST AREA					
1.21 GROUP A -		1,000	Ton	70	70,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT					<u> </u>
Specification Number:	1229849				

Specification Number: 1229849

Type of Funding: CITY

Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target	Unit	Response	Amount
	/ Job	Quantity		Price	7,550
SURFACE COURSE,					
MIX ¿Ε¿, N70					
(PICK-UP) -					
NORTHEAST AREA					
1.22 GROUP A -		1,000	Ton	86	86,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿E¿, N70					
(DELIVERED) -					
NORTHEAST AREA					
1.23 GROUP A -		500	Ton	72	36,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT,					
IL-4.75, N50 (IDOT -					
DIST 1) (PICK-UP) -					
NORTHEAST AREA					
1.24 GROUP A -		6,000	Ton	99.5	597,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT,					
IL-4.75, N50 (IDOT -					
DIST 1)					
(DELIVERED) -					
NORTHEAST AREA		500		(0)	24.500.00
1.25 GROUP A - HOT		500	Ton	69	34,500.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
IL-4.75, N50 (CDOT)					
(PICK-UP) -					
NORTHEAST AREA		(000	T	02.5	561,000,00
1.26 GROUP A - HOT		6,000	Ton	93.5	561,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
IL-4.75, N50 (CDOT)					
(DELIVERED) - NORTHEAST AREA					
		1 000	Т	52	52,000,00
1.27 GROUP A - HOT	ļ	1,000	Ton	53	53,000.00
MIX ASPHALT - HOT MIX ASPHALT BASE					
COURSE ECO-BAM					
(CDOT) (PICK-UP) - NORTHEAST AREA					
1.28 GROUP A - HOT		1 000	Ton	69	69,000.00
	ļ	1,000	1 011	09	09,000.00
MIX ASPHALT - HOT					
MIX ASPHALT BASE					
COURSE ECO-BAM					
(CDOT)					
(DELIVERED) -					
NORTHEAST AREA Specification Number:	1220040				

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
	/ Job	Quantity		Price	
1.29 GROUP A -		1,000	Ton	105	105,000.00
COLD PATCH					
ASPHALT -					
STANDARD COLD					
PATCH ASPHALT					
(PICK-UP 10 TON					
MINIMUM) -					
NORTHEAST AREA					
1.30 GROUP A -		1,000	Ton	142	142,000.00
COLD PATCH		,			, , , , , , , , , , , , , , , , , , , ,
ASPHALT -					
STANDARD COLD					
PATCH ASPHALT					
(DELIVERED) -					
NORTHEAST AREA					
1.31 GROUP A -		1,000	Ton	105	105,000.00
COLD PATCH		1,000	1011	103	103,000.00
ASPHALT - HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT (PICK-UP					
10 TON MINIMUM) -					
NORTHEAST AREA		20.000		1.40	2 0 4 0 0 0 0 0 0
1.32 GROUP A -		20,000	Ton	142	2,840,000.00
COLD PATCH					
ASPHALT - HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT					
(DELIVERED) -					
NORTHEAST AREA					
1.33 GROUP A -		20,000	Ton	110	2,200,000.00
COLD PATCH					
ASPHALT - HIGH					
PERFORMANCE					
HIGH RECYCLE					
COLD PATCH					
ASPHALT (PICK-UP					
10 TON MINIMUM) -					
NORTHEAST AREA					
1.34 GROUP A -		20,000	Ton	147	2,940,000.00
COLD PATCH					
ASPHALT - HIGH					
PERFORMANCE					
HIGH RECYCLE					
COLD PATCH					
ASPHALT					
(DELIVERED) -					
NORTHEAST AREA					
1.35 GROUP A -		1,000	Pound	0.75	750.00
SEALER, JOINT,		1,000	1 Oullu	0.73	7.50.00
ASPHALT, HOT -					
POURED-HOT					
POURED JOINT					
SEALER (DELIVERED)					
(DELIVERED) -					
NORTHEAST AREA Specification Number:	1000010				

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
1.36 GROUP A -	/ Job	Quantity 40	Each	Price 2,000	80,000.00
MISC. ROAD AND		40	Each	2,000	80,000.00
HIGHWAY					
BUILDING					
1 -					
MATERIALS					
(ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (PICK-UP) -					
NORTHEAST AREA		10	F 1	4.000	1.60.000.00
1.37 GROUP A -		40	Each	4,000	160,000.00
MISC. ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (DELIVERED)					
- NORTHEAST AREA		700.000	T	26.5	10.550.000.00
1.38 GROUP A -		700,000	Ton	26.5	18,550,000.00
HAULING SERVICES					
- HAULING					
BITUMINOUS					
MILLINGS FROM					
SITE TO PLANT -					
NORTHEAST AREA		2.000	E1-	50	150,000,00
1.39 GROUP A -		3,000	Each	50	150,000.00
MISC. ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) - CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 1					
TO 15 MINUTES					
(CREDIT IS \$50.00) -					
NORTHEAST AREA					
1.40 GROUP A -		3,000	Each	75	225,000.00
MISC. ROAD AND		3,000	Lacii	13	223,000.00
HIGHWAY					
BUILDING					
Specification Number	1220040			l	

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
MATERIALS	/ Job	Quantity		Price	
(ASPHALTIC) -					
CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 16					
TO 30 MINUTES					
(CREDIT IS \$75.00) -					
NORTHEAST AREA					
1.41 GROUP A -		3,000	Each	100	300,000.00
MISC. ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 31					
TO 45 MINUTES					
(CREDIT IS \$100.00) - NORTHEAST AREA					
1.42 GROUP A -		3,000	Each	125	375,000.00
MISC. ROAD AND		3,000	Each	123	373,000.00
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 46					
TO 60 MINUTES					
(MAX CREDIT IS					
\$125.00) -					
NORTHEAST AREA					
1.43 GROUP A -		1,000	Ton	70	70,000.00
ASPHALT,					
PERVIOUS HOT MIX					
- PERVIOUS HOT					
MIX ASPHALT					
(CDOT) (PICK-UP) -					
NORTHEAST AREA		1.000	T	00	00,000,00
1.44 GROUP A -		1,000	Ton	99	99,000.00
ASPHALT,					
PERVIOUS HOT MIX					
- PERVIOUS HOT MIX ASPHALT					
Specification Number:	1220040			<u> </u>	

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
(CDOT)	/ Job	Quantity		Price	
(CDOT) (DELIVERED) -					
1 ` /					
NORTHEAST AREA		00.000	T	1	00,000,00
1.45 GROUP A -		90,000	Ton	1	90,000.00
ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
WARM-MIX ASPHALT ADDITIVE					
(WMA) -					
NORTHEAST AREA		1 000	T	10	12 000 00
1.46 GROUP A -		1,000	Ton	12	12,000.00
ASPHALT					
PRODUCTS -					
GROUND-TIRE					
RUBBER MODIFIED					
ASPHALT (GTR) - NORTHEAST AREA					
		10.000	Each	1	40,000,00
1.47 GROUP A - HAULING SERVICES		10,000	Each	4	40,000.00
- LOW TONNAGE					
DELIVERY -					
NORTHEAST AREA					
1.48 GROUP A -		10.000	Each	4	40,000.00
HAULING SERVICES		10,000	Each	4	40,000.00
- LOW VERTICAL					
CLEARANCE					
DELIVERY -					
NORTHEAST AREA					
1.49 GROUP A - HOT		500	Ton	65	32,500.00
MIX ASPHALT - HOT		300	1011	03	32,300.00
MIX ASPHALT,					
IL-4.75, N50 (CDOT)					
(PICK-UP) -					
NORTHEAST AREA					
1.50 GROUP A - HOT		6,000	Ton	88.6	531,600.00
MIX ASPHALT - HOT		0,000	1011	00.0	331,000.00
MIX ASPHALT,					
IL-4.75, N50 (CDOT)					
(DELIVERED) -					
NORTHEAST AREA					
2 Group B				No Response	
-NORTHWEST AREA				1	
2.1 GROUP B -		5,000	Gallon	2.9	14,500.00
ASPHALT PRIMER,					,
EMULSIFIED -					
PRIMERS,					
EMULSION					
(PICK-UP) -					
NORTHWEST AREA					
2.2 GROUP B -		400,000	Gallon	4.8	1,920,000.00
ASPHALT PRIMER,		_			' '
EMULSIFIED -					
PRIMERS,					
· · · · · · · · · · · · · · · · · · ·					

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
EMULSION (DELIVERED) - NORTHWEST AREA					
2.3 GROUP B -		50	Each	40	2,000.00
ASPHALT PRIMER,		30	Lacii	40	2,000.00
EMULSIFIED -					
PRIMERS,					
EMULSION, 5					
GALLON BUCKET					
(DELIVERED) -					
NORTHWEST AREA					
2.4 GROUP B -		30	Each	450	13,500.00
ASPHALT PRIMER,					-
EMULSIFIED -					
PRIMERS,					
EMULSION, 55					
GALLON DRUM					
(DELIVERED) -					
NORTHWEST AREA		50	0.11		255.00
2.5 GROUP B -		50	Gallon	5.5	275.00
TRACKLESS,					
PRIMERS -					
PRIMERS,					
TRACKLESS					
(PICK-UP) - NORTHWEST AREA					
2.6 GROUP B -		80,000	Gallon	5.5	440,000.00
TRACKLESS,		80,000	Gallon	3.3	440,000.00
PRIMERS -					
PRIMERS,					
TRACKLESS					
(DELIVERED) -					
NORTHWEST AREA					
2.7 GROUP B -		400,000	Foot	10.5	4,200,000.00
TRACKLESS,					
PRIMERS -					
LONGITUDINAL					
JOINT SEALANT					
(HAND APPLIED					
METHOD FROM					
ROLL) (DELIVERED)					
- NORTHWEST					
AREA 2.8 GROUP B -		1,000	Foot	8.5	8,500.00
TRACKLESS,		1,000	1.001	0.5	0,500.00
PRIMERS -					
LONGITUDINAL					
JOINT SEALANT					
(PRESSURE					
DISTRIBUTOR OR					
MELTER KETTLE					
APPLIED)					
(DELIVERED) -					
NORTHWEST AREA					
2.9 GROUP B - HOT		50,000	Ton	59.6	2,980,000.00
MIX ASPHALT - HOT					
MIX ASPHALT Specification Number:	1000010				

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
	/ Job	Quantity		Price	
SURFACE COURSE,					
IL-9.5LH, MIX ¿C¿,					
N30 (CDOT)					
(PICK-UP) -					
NORTHWEST AREA					
2.10 GROUP B - HOT		600,000	Ton	89.5	53,700,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
IL-9.5LH, MIX ¿C¿,					
N30 (CDOT)					
(DELIVERED) -					
NORTHWEST AREA					
2.11 GROUP B - HOT		5,000	Ton	55.75	278,750.00
MIX ASPHALT - HOT					
MIX ASPHALT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(PICK-UP) -					
NORTHWEST AREA					
2.12 GROUP B - HOT		5,000	Ton	73	365,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(DELIVERED) -					
NORTHWEST AREA					
2.13 GROUP B - HOT		1,000	Ton	60	60,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
BINDER COURSE,					
IL-19.0, N50					
(PICK-UP) -					
NORTHWEST AREA					
2.14 GROUP B - HOT		1,000	Ton	77	77,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
BINDER COURSE,					
IL-19.0, N50					
(DELIVERED) -					
NORTHWEST AREA					
2.15 GROUP B - HOT		1,000	Ton	59	59,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿D¿, N70					
(PICK-UP) -					
NORTHWEST AREA		00.000	Т	05	0.550.000.00
2.16 GROUP B - HOT		90,000	Ton	95	8,550,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿D¿, N70					
(DELIVERED) - NORTHWEST AREA					
2.17 GROUP B -		1,000	Ton	81	81,000.00
2.17 GROULD -		1,000	1011	01	01,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
POLYMERIZED HOT	/ Job	Quantity		Price	
MIX ASPHALT -					
STONE MATRIX					
ASPHALT, SURFACE					
COURSE, IL-9.5, MIX					
¿F¿, N80 (PICK-UP) -					
NORTHWEST AREA					
2.18 GROUP B -		1,000	Ton	97	97,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
STONE MATRIX					
ASPHALT, SURFACE					
COURSE, IL-9.5, MIX					
¿F¿, N80					
(DELIVERED) -					
NORTHWEST AREA		5.000	Т	(2	215 000 00
2.19 GROUP B - HOT		5,000	Ton	63	315,000.00
MIX ASPHALT - HOT MIX ASPHALT FINE					
GRADED SURFACE					
COURSE, IL-9.5, MIX					
¿D¿, N70 (CDOT)					
(PICK-UP) -					
NORTHWEST AREA					
2.20 GROUP B - HOT		5,000	Ton	82	410,000.00
MIX ASPHALT - HOT		2,000	Ton	02	110,000.00
MIX ASPHALT FINE					
GRADED SURFACE					
COURSE, IL-9.5, MIX					
¿D¿, N70 (CDOT)					
(DELIVERED) -					
NORTHWEST AREA					
2.21 GROUP B -		1,000	Ton	70	70,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿E¿, N70					
(PICK-UP) - NORTHWEST AREA					
2.22 GROUP B -		1,000	Ton	86	86,000.00
POLYMERIZED HOT		1,000	1011	80	80,000.00
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿E¿, N70					
(DELIVERED) -					
NORTHWEST AREA					
2.23 GROUP B -		500	Ton	72	36,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT,					
IL-4.75, N50 (IDOT -					
DIST 1) (PICK-UP) -					
Specification Number:	1229849				

Specification Number: 1229849

Type of Funding: CITY

Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
NORTHWEST AREA	/ Job	Quantity		Price	
2.24 GROUP B -		6,000	Ton	99.5	597,000.00
POLYMERIZED HOT		0,000	1011	99.5	397,000.00
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT,					
IL-4.75, N50 (IDOT -					
DIST 1)					
(DELIVERED) -					
NORTHWEST AREA					
2.25 GROUP B - HOT		500	Ton	69	34,500.00
MIX ASPHALT - HOT			1011		.,
MIX ASPHALT					
SURFACE COURSE,					
IL-4.75, N50 (CDOT)					
(PICK-UP) -					
NORTHWEST AREA					
2.26 GROUP B - HOT		6,000	Ton	95	570,000.00
MIX ASPHALT - HOT	1	,			, , , , , , ,
MIX ASPHALT					
SURFACE COURSE,					
IL-4.75, N50 (CDOT)					
(DELIVERED) -					
NORTHWEST AREA					
2.27 GROUP B - HOT		1,000	Ton	53	53,000.00
MIX ASPHALT - HOT		,			
MIX ASPHALT BASE					
COURSE ECO-BAM					
(CDOT) (PICK-UP) -					
NORTHWEST AREA					
2.28 GROUP B - HOT		1,000	Ton	69	69,000.00
MIX ASPHALT - HOT					
MIX ASPHALT BASE					
COURSE ECO-BAM					
(CDOT)					
(DELIVERED) -					
NORTHWEST AREA					
2.29 GROUP B -		1,000	Ton	105	105,000.00
COLD PATCH					
ASPHALT -					
STANDARD COLD					
PATCH ASPHALT					
(PICK-UP 10 TON					
MINIMUM) -					
NORTHWEST AREA		1 000	Т	1.42	142 000 00
2.30 GROUP B -		1,000	Ton	142	142,000.00
COLD PATCH					
ASPHALT - STANDARD COLD					
PATCH ASPHALT					
(DELIVERED) -					
NORTHWEST AREA					
2.31 GROUP B -		1,000	Ton	105	105,000.00
COLD PATCH		1,000	1 011	103	105,000.00
ASPHALT - HIGH					
PERFORMANCE					
1 LIG ORGANICE	l	1			

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
COLD PATCH	7 300	Qualitity		FIICE	
ASPHALT (PICK-UP					
10 TON MINIMUM) -					
NORTHWEST AREA					
2.32 GROUP B -		20,000	Ton	150	3,000,000.00
COLD PATCH					
ASPHALT - HIGH PERFORMANCE					
COLD PATCH					
ASPHALT					
(DELIVERED) -					
NORTHWEST AREA					
2.33 GROUP B -		20,000	Ton	115	2,300,000.00
COLD PATCH					
ASPHALT - HIGH					
PERFORMANCE					
HIGH RECYCLE					
COLD PATCH ASPHALT (PICK-UP					
10 TON MINIMUM) -					
NORTHWEST AREA					
2.34 GROUP B-		20,000	Ton	160	3,200,000.00
COLD PATCH		20,000	1011		2,200,000.00
ASPHALT - HIGH					
PERFORMANCE					
HIGH RECYCLE					
COLD PATCH					
ASPHALT					
(DELIVERED) -					
NORTHWEST AREA		1 000	Pound	0.75	750.00
2.35 GROUP B - SEALER, JOINT,		1,000	Pouna	0.75	750.00
ASPHALT, HOT -					
POURED-HOT					
POURED JOINT					
SEALER					
(DELIVERED) -					
NORTHWEST AREA					
2.36 GROUP B -		40	Each	2,000	80,000.00
MISC. ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS (ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (PICK-UP) -					
NORTHWEST AREA		40	D1	4.000	160,000,00
2.37 GROUP B -		40	Each	4,000	160,000.00
MISC. ROAD AND HIGHWAY					
BUILDING					
Specification Number	1220040	<u> </u>	<u> </u>	<u> </u>	

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
MATERIALS	/ Job	Quantity		Price	
(ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (DELIVERED)					
- NORTHWEST					
AREA					
2.38 GROUP B -		700,000	Ton	29	20,300,000.00
HAULING SERVICES		,			, ,
- HAULING					
BITUMINOUS					
MILLINGS FROM					
SITE TO PLANT -					
NORTHWEST AREA					
2.39 GROUP B -		3,000	Each	50	150,000.00
MISC. ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 1					
TO 15 MINUTES					
(CREDIT IS \$50.00) -					
NORTHWEST AREA		2.000	F 1	7.5	225 000 00
2.40 GROUP B -		3,000	Each	75	225,000.00
MISC. ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) - CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 16					
TO 30 MINUTES					
(CREDIT IS \$75.00) -					
NORTHWEST AREA					
2.41 GROUP B -		3,000	Each	100	300,000.00
MISC. ROAD AND		-,000	20011		2 30,000.00
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
Specification Number	1220040		1	1	

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
CREDIT FOR CITY	7 300	Quantity		Title	
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 31					
TO 45 MINUTES					
(CREDIT IS \$100.00) -					
NORTHWEST AREA					
2.42 GROUP B -		3,000	Each	125	375,000.00
MISC. ROAD AND					,
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 46					
TO 60 MINUTES					
(MAX CREDIT IS					
\$125.00) -					
NORTHWEST AREA			_		
2.43 GROUP B -		1,000	Ton	75	75,000.00
ASPHALT,					
PERVIOUS HOT MIX					
- PERVIOUS HOT					
MIX ASPHALT					
(CDOT) (PICK-UP) -					
NORTHWEST AREA		1 000	Т	110	110 000 00
2.44 GROUP B -		1,000	Ton	110	110,000.00
ASPHALT,					
PERVIOUS HOT MIX					
- PERVIOUS HOT MIX ASPHALT					
(CDOT)					
(DELIVERED) -					
NORTHWEST AREA					
2.45 GROUP B -		90,000	Ton	1	90,000.00
ROAD AND		70,000	1011	1	70,000.00
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
WARM-MIX					
ASPHALT ADDITIVE					
(WMA) -					
NORTHWEST AREA					
2.46 GROUP B -		1,000	Ton	12	12,000.00
ASPHALT		_			'
PRODUCTS -					
GROUND-TIRE					
RUBBER MODIFIED					
Specification Numbers	1220040				

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
ASPHALT (GTR) - NORTHWEST AREA					
2.47 GROUP B -		10,000	Each	4	40,000.00
HAULING SERVICES		,			,
- LOW TONNAGE					
DELIVERY -					
NORTHWEST AREA					
2.48 GROUP B -		10,000	Each	4	40,000.00
HAULING SERVICES					
- LOW VERTICAL					
CLEARANCE					
DELIVERY -					
NORTHWEST AREA					
2.49 GROUP B - HOT		500	Ton	70	35,000.00
MIX ASPHALT - HOT					
MIX ASPHALT,					
IL-4.75, N50 (CDOT)					
(PICK-UP) -					
NORTHWEST AREA					
2.50 GROUP B - HOT		6,000	Ton	95	570,000.00
MIX ASPHALT - HOT					
MIX ASPHALT,					
IL-4.75, N50 (CDOT)					
(DELIVERED) -					
NORTHWEST AREA					
3 Group C -CENTRAL				No Response	
EAST AREA		0.50.000	G 11		• • • • • • • • •
3.1 GROUP C -		950,000	Gallon	3	2,850,000.00
ASPHALT PRIMER,					
EMULSIFIED -					
PRIMERS,					
EMULSION (PICK-UP) -					
CENTRAL EAST					
AREA					
3.2 GROUP C -		200,000	Gallon	4.4	880,000.00
ASPHALT PRIMER,		200,000	Ganon	7.7	880,000.00
EMULSIFIED -					
PRIMERS,					
EMULSION					
(DELIVERED) -					
CENTRAL EAST					
AREA					
3.3 GROUP C -		5,000	Each	50	250,000.00
ASPHALT PRIMER,		,			,
EMULSIFIED -					
PRIMERS,					
EMULSION, 5					
GALLON BUCKET					
(DELIVERED) -					
CENTRAL EAST					
AREA					
3.4 GROUP C -		50	Each	450	22,500.00
ASPHALT PRIMER,					
EMULSIFIED -					
PRIMERS,					

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
EMULSION, 55 GALLON DRUM (DELIVERED) - CENTRAL EAST AREA					
3.5 GROUP C - TRACKLESS, PRIMERS - PRIMERS, TRACKLESS (PICK-UP) - CENTRAL EAST AREA		400,000	Gallon	5	2,000,000.00
3.6 GROUP C - TRACKLESS, PRIMERS - PRIMERS, TRACKLESS (DELIVERED) - CENTRAL EAST AREA		80,000	Gallon	5	400,000.00
3.7 GROUP C - TRACKLESS, PRIMERS - LONGITUDINAL JOINT SEALANT (HAND APPLIED METHOD FROM ROLL) (DELIVERED) - CENTRAL EAST AREA		400,000	Foot	9.7	3,880,000.00
3.8 GROUP C - TRACKLESS, PRIMERS - LONGITUDINAL JOINT SEALANT (PRESSURE DISTRIBUTOR OR MELTER KETTLE APPLIED) (DELIVERED) - CENTRAL EAST AREA		400,000	Foot	7.9	3,160,000.00
3.9 GROUP C - HOT MIX ASPHALT - HOT MIX ASPHALT SURFACE COURSE, IL-9.5LH, MIX ¿C¿, N30 (CDOT) (PICK-UP) - CENTRAL EAST AREA		80,000	Ton	64.2	5,136,000.00
3.10 GROUP C - HOT MIX ASPHALT - HOT MIX ASPHALT SURFACE COURSE, IL-9.5LH, MIX ¿C¿, Specification Number:		600,000	Ton	78.2	46,920,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
N30 (CDOT)	/ Job	Quantity		Price	
(DELIVERED) -					
CENTRAL EAST					
AREA					
3.11 GROUP C - HOT		5,000	Ton	55.75	278,750.00
MIX ASPHALT - HOT		-,			
MIX ASPHALT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(PICK-UP) -					
CENTRAL EAST					
AREA 3.12 GROUP C - HOT		5 000	Т	(0)	245,000,00
MIX ASPHALT - HOT		5,000	Ton	69	345,000.00
MIX ASPHALT - HOT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(DELIVERED) -					
CENTRAL EÁST					
AREA					
3.13 GROUP C - HOT		1,000	Ton	60	60,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
BINDER COURSE,					
IL-19.0, N50					
(PICK-UP) - CENTRAL EAST					
AREA					
3.14 GROUP C - HOT		1,000	Ton	73	73,000.00
MIX ASPHALT - HOT		1,000	1011	"	75,000.00
MIX ASPHALT					
BINDER COURSE,					
IL-19.0, N50					
(DELIVERED) -					
CENTRAL EAST					
AREA		00.000	T	(0)	(210 000 00
3.15 GROUP C - HOT MIX ASPHALT - HOT		90,000	Ton	69	6,210,000.00
MIX ASPHALT - HOT					
SURFACE COURSE,					
MIX ¿D¿, N70					
(PICK-UP) -					
CENTRAL EAST					
AREA					
3.16 GROUP C - HOT		90,000	Ton	83	7,470,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿D¿, N70 (DELIVERED) -					
CENTRAL EAST					
AREA					
3.17 GROUP C -		1,000	Ton	81	81,000.00
POLYMERIZED HOT		-,			
MIX ASPHALT -					
STONE MATRIX					
ASPHALT, SURFACE					
Specification Number:	1229849				

Specification Number: 1229849

Type of Funding: CITY

Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
COURSE, IL-9.5, MIX ¿F¿, N80 (PICK-UP) - CENTRAL EAST AREA	7 300	Quantity		THE	
3.18 GROUP C - POLYMERIZED HOT MIX ASPHALT - STONE MATRIX ASPHALT, SURFACE COURSE, IL-9.5, MIX ¿F¿, N80 (DELIVERED) - CENTRAL EAST AREA		1,000	Ton	93	93,000.00
3.19 GROUP C - HOT MIX ASPHALT - HOT MIX ASPHALT FINE GRADED SURFACE COURSE, IL-9.5, MIX ¿D¿, N70 (CDOT) (PICK-UP) - CENTRAL EAST AREA		5,000	Ton	63	315,000.00
3.20 GROUP C - HOT MIX ASPHALT - HOT MIX ASPHALT FINE GRADED SURFACE COURSE, IL-9.5, MIX ¿D¿, N70 (CDOT) (DELIVERED) - CENTRAL EAST AREA		5,000	Ton	76	380,000.00
3.21 GROUP C - POLYMERIZED HOT MIX ASPHALT - POLYMERIZED HOT MIX ASPHALT SURFACE COURSE, MIX ¿E¿, N70 (PICK-UP) - CENTRAL EAST AREA		1,000	Ton	75	75,000.00
3.22 GROUP C - POLYMERIZED HOT MIX ASPHALT - POLYMERIZED HOT MIX ASPHALT SURFACE COURSE, MIX ¿E¿, N70 (DELIVERED) - CENTRAL EAST AREA		1,000	Ton	89	89,000.00
3.23 GROUP C - POLYMERIZED HOT MIX ASPHALT - POLYMERIZED HOT MIX ASPHALT, Specification Number:	1220010	500	Ton	72	36,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
IL-4.75, N50 (IDOT - DIST 1) (PICK-UP) - CENTRAL EAST AREA	7 300	Quantity		THE	
3.24 GROUP C - POLYMERIZED HOT MIX ASPHALT - POLYMERIZED HOT MIX ASPHALT, IL-4.75, N50 (IDOT - DIST 1) (DELIVERED) - CENTRAL EAST AREA		10,000	Ton	95.5	955,000.00
3.25 GROUP C - HOT MIX ASPHALT - HOT MIX ASPHALT SURFACE COURSE, IL-4.75, N50 (CDOT) (PICK-UP) - CENTRAL EAST AREA		500	Ton	69	34,500.00
3.26 GROUP C - HOT MIX ASPHALT - HOT MIX ASPHALT SURFACE COURSE, IL-4.75, N50 (CDOT) (DELIVERED) - CENTRAL EAST AREA		6,000	Ton	89	534,000.00
3.27 GROUP C - HOT MIX ASPHALT - HOT MIX ASPHALT BASE COURSE ECO-BAM (CDOT) (PICK-UP) - CENTRAL EAST AREA		1,000	Ton	53	53,000.00
3.28 GROUP C - HOT MIX ASPHALT - HOT MIX ASPHALT BASE COURSE ECO-BAM (CDOT) (DELIVERED) - CENTRAL EAST AREA		1,000	Ton	67	67,000.00
3.29 GROUP C - COLD PATCH ASPHALT - STANDARD COLD PATCH ASPHALT (PICK-UP 10 TON MINIMUM) - CENTRAL EAST AREA		1,000	Ton	105	105,000.00
3.30 GROUP C - COLD PATCH ASPHALT - Specification Number:	1220840	1,000	Ton	130	130,000.00

Type of Funding: CITY

Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
STANDARD COLD PATCH ASPHALT (DELIVERED) - CENTRAL EAST AREA					
3.31 GROUP C - COLD PATCH ASPHALT - HIGH PERFORMANCE COLD PATCH ASPHALT (PICK-UP 10 TON MINIMUM) - CENTRAL EAST AREA		1,000	Ton	105	105,000.00
3.32 GROUP C - COLD PATCH ASPHALT - HIGH PERFORMANCE COLD PATCH ASPHALT (DELIVERED) - CENTRAL EAST AREA		30,000	Ton	130	3,900,000.00
3.33 GROUP C - COLD PATCH ASPHALT - HIGH PERFORMANCE HIGH RECYCLE COLD PATCH ASPHALT (PICK-UP 10 TON MINIMUM) - CENTRAL EAST AREA		30,000	Ton	110	3,300,000.00
3.34 GROUP C - COLD PATCH ASPHALT - HIGH PERFORMANCE HIGH RECYCLE COLD PATCH ASPHALT (DELIVERED) - CENTRAL EAST AREA		30,000	Ton	138	4,140,000.00
3.35 GROUP C - SEALER, JOINT, ASPHALT, HOT - POURED-HOT POURED JOINT SEALER (DELIVERED) - CENTRAL EAST AREA		500,000	Pound	0.9	450,000.00
3.36 GROUP C - MISC. ROAD AND HIGHWAY BUILDING MATERIALS Specification Number:	1220040	40	Each	2,000	80,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
(ASPHALTIC) -	/ 300	Quantity		TILLE	
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (PICK-UP) - CENTRAL EAST					
AREA					
3.37 GROUP C -		40	Each	4,000	160,000.00
MISC. ROAD AND		40	Lacii	4,000	100,000.00
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (DELIVERED) - CENTRAL EAST					
AREA					
3.38 GROUP C -		700,000	Ton	22	15,400,000.00
HAULING SERVICES		700,000	1011	22	13,400,000.00
- HAULING					
BITUMINOUS					
MILLINGS FROM					
SITE TO PLANT -					
CENTRAL EAST					
AREA					
3.39 GROUP C -		3,000	Each	50	150,000.00
MISC. ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) - CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR; S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 1					
TO 15 MINUTES					
(CREDIT IS \$50.00) -					
CENTRAL EAST					
AREA		2.000	F 1	7.5	225.000.00
3.40 GROUP C -		3,000	Each	75	225,000.00
MISC. ROAD AND					
HIGHWAY BUILDING					
MATERIALS					
Specification Number	1220040			<u> </u>	

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
(ASPHALTIC) - CREDIT FOR CITY		•			
DELAY IN					
RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 16					
TO 30 MINUTES					
(CREDIT IS \$75.00) - CENTRAL EAST					
AREA					
3.41 GROUP C -		3,000	Each	100	300,000.00
MISC. ROAD AND		-,			
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
CREDIT FOR CITY					
DELAY IN RELEASING					
CONTRACTOR;S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 31					
TO 45 MINUTES					
(CREDIT IS \$100.00) -					
CENTRAL EAST					
AREA		2 000	P 1	105	275 000 00
3.42 GROUP C -		3,000	Each	125	375,000.00
MISC. ROAD AND HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR; S					
TRUCK: INTERVAL OF DELAY (OVER					
INITIAL 1 HOUR) 46					
TO 60 MINUTES					
(MAX CREDIT IS					
\$125.00) - CENTRAL					
EAST AREA					
3.43 GROUP C -		1,000	Ton	70	70,000.00
ASPHALT,					
PERVIOUS HOT MIX - PERVIOUS HOT					
MIX ASPHALT					
(CDOT) (PICK-UP) -					
CENTRAL EAST					
AREA					
3.44 GROUP C -		1,000	Ton	94.5	94,500.00
ASPHALT,					
PERVIOUS HOT MIX Specification Number:					

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target	Unit	Response	Amount
	/ Job	Quantity		Price	
- PERVIOUS HOT					
MIX ASPHALT					
(CDOT)					
(DELIVERED) -					
CENTRAL EAST					
AREA					
3.45 GROUP C -		90,000	Ton	1	90,000.00
ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
WARM-MIX					
ASPHALT ADDITIVE					
(WMA) - CENTRAL					
EAST AREA					
3.46 GROUP C -		200	Ton	12	2,400.00
ASPHALT					
PRODUCTS -					
GROUND-TIRE					
RUBBER MODIFIED					
ASPHALT (GTR) -					
CENTRAL EAST					
AREA					
3.47 GROUP C -		10,000	Each	4	40,000.00
HAULING SERVICES					
- LOW TONNAGE					
DELIVERY -					
CENTRAL EAST					
AREA					
3.48 GROUP C -		10,000	Each	4	40,000.00
HAULING SERVICES					
- LOW VERTICAL					
CLEARANCE					
DELIVERY -					
CENTRAL EAST					
AREA					
3.49 GROUP C - HOT		500	Ton	65	32,500.00
MIX ASPHALT - HOT]				
MIX ASPHALT,					
IL-4.75, N50 (CDOT)					
(PICK-UP) -					
CENTRAL EAST					
AREA		(000		04.5	507.000.00
3.50 GROUP C - HOT		6,000	Ton	84.5	507,000.00
MIX ASPHALT - HOT					
MIX ASPHALT,					
IL-4.75, N50 (CDOT)					
(DELIVERED) -					
CENTRAL EAST					
AREA				N. D.	
4 Group D -CENTRAL				No Response	
WEST AREA		6.000	G 11	0.5	15,000,00
4.1 GROUP D -		6,000	Gallon	2.5	15,000.00
ASPHALT PRIMER,					
EMULSIFIED -					

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
PRIMERS,	, , , ,	Q manage			
EMULSION					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.2 GROUP D -		25,000	Gallon	4	100,000.00
ASPHALT PRIMER,		23,000	Gallon	-	100,000.00
EMULSIFIED -					
PRIMERS,					
EMULSION					
(DELIVERED) -					
CENTRAL WEST					
AREA		1.0	F 1	40	100.00
4.3 GROUP D -		10	Each	40	400.00
ASPHALT PRIMER,					
EMULSIFIED -					
PRIMERS,					
EMULSION, 5					
GALLON BUCKET					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.4 GROUP D -		10	Each	450	4,500.00
ASPHALT PRIMER,					
EMULSIFIED -					
PRIMERS,					
EMULSION, 55					
GALLON DRUM					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.5 GROUP D -		10	Gallon	4.8	48.00
TRACKLESS,					
PRIMERS -					
PRIMERS,					
TRACKLESS					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.6 GROUP D -		80,000	Gallon	4.8	384,000.00
TRACKLESS,		30,000	Junion		331,000.00
PRIMERS -					
PRIMERS,					
TRACKLESS					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.7 GROUP D -		400,000	Foot	9.25	3,700,000.00
TRACKLESS,		+00,000	1.001	7.23	3,700,000.00
PRIMERS -					
LONGITUDINAL					
JOINT SEALANT					
(HAND APPLIED					
METHOD FROM					
ROLL) (DELIVERED)					
- CENTRAL WEST					
AREA	1.00-				
AREA Specification Number:	1220940				

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
4.8 GROUP D -		1,000	Foot	7.5	7,500.00
TRACKLESS,		,			,
PRIMERS -					
LONGITUDINAL					
JOINT SEALANT					
(PRESSURE					
DISTRIBUTOR OR					
MELTER KETTLE					
APPLIED)					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.9 GROUP D - HOT		50,000	Ton	60	3,000,000.00
MIX ASPHALT - HOT		20,000	1011		3,000,000.00
MIX ASPHALT					
SURFACE COURSE,					
IL-9.5LH, MIX ¿C¿,					
N30 (CDOT)					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.10 GROUP D - HOT		600,000	Ton	74	44,400,000.00
MIX ASPHALT - HOT			1011	, .	,,
MIX ASPHALT					
SURFACE COURSE,					
IL-9.5LH, MIX ¿C¿,					
N30 (CDOT)					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.11 GROUP D - HOT		5,000	Ton	55	275,000.00
MIX ASPHALT - HOT		,			, , , , , , , , , , , , , , , , , , ,
MIX ASPHALT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.12 GROUP D - HOT		5,000	Ton	73	365,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.13 GROUP D - HOT		1,000	Ton	59	59,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
BINDER COURSE,					
IL-19.0, N50					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.14 GROUP D - HOT		1,000	Ton	77	77,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
Specification Number:	12208/10		I.	I.	1

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
DRIBER COLUMN	/ Job	Quantity		Price	
BINDER COURSE,					
IL-19.0, N50					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.15 GROUP D - HOT		1,000	Ton	59	59,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿D¿, N70					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.16 GROUP D - HOT		90,000	Ton	78.5	7,065,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿D¿, N70					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.17 GROUP D -		1,000	Ton	81	81,000.00
POLYMERIZED HOT		1,000	1011		01,000.00
MIX ASPHALT -					
STONE MATRIX					
ASPHALT, SURFACE					
COURSE, IL-9.5, MIX					
¿F¿, N80 (PICK-UP) -					
CENTRAL WEST					
AREA					
4.18 GROUP D -		1,000	Ton	93	93,000.00
POLYMERIZED HOT		1,000	1011		75,000.00
MIX ASPHALT -					
STONE MATRIX					
ASPHALT, SURFACE					
COURSE, IL-9.5, MIX					
¿F¿, N80					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.19 GROUP D - HOT		5,000	Ton	58	290,000.00
MIX ASPHALT - HOT		2,000	1011		270,000.00
MIX ASPHALT FINE					
GRADED SURFACE					
COURSE, IL-9.5, MIX					
¿D¿, N70 (CDOT)					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.20 GROUP D - HOT		5,000	Ton	76	380,000.00
MIX ASPHALT - HOT		2,000	1011	, 0	200,000.00
MIX ASPHALT FINE					
GRADED SURFACE					
COURSE, IL-9.5, MIX					
¿D¿, N70 (CDOT)					
(DELIVERED) -					
CENTRAL WEST					
Specification Number	1220040		I	<u> </u>	

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
ADEA	/ Job	Quantity		Price	
AREA		1.000		70	70.000.00
4.21 GROUP D -		1,000	Ton	70	70,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿E¿, N70					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.22 GROUP D -		1,000	Ton	82	82,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿E¿, N70					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.23 GROUP D -		500	Ton	72	36,000.00
POLYMERIZED HOT					,
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT,					
IL-4.75, N50 (IDOT -					
DIST 1) (PICK-UP) -					
CENTRAL WEST					
AREA					
4.24 GROUP D -		10,000	Ton	91.25	912,500.00
POLYMERIZED HOT		,			,
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT,					
IL-4.75, N50 (IDOT -					
DIST 1)					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.25 GROUP D - HOT		500	Ton	69	34,500.00
MIX ASPHALT - HOT			1011		.,
MIX ASPHALT					
SURFACE COURSE,					
IL-4.75, N50 (CDOT)					
(PICK-UP) -					
CENTRAL WEST					
AREA					
4.26 GROUP D - HOT		6,000	Ton	89	534,000.00
MIX ASPHALT - HOT		3,000	1011		551,000.00
MIX ASPHALT					
SURFACE COURSE,					
IL-4.75, N50 (CDOT)					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.27 GROUP D - HOT		1,000	Ton	53	53,000.00
Specification Number:	1220040	1,000	1011	100	23,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
MIX ASPHALT - HOT MIX ASPHALT BASE COURSE ECO-BAM (CDOT) (PICK-UP) - CENTRAL WEST AREA					
4.28 GROUP D - HOT MIX ASPHALT - HOT MIX ASPHALT BASE COURSE ECO-BAM (CDOT) (DELIVERED) - CENTRAL WEST AREA		1,000	Ton	65	65,000.00
4.29 GROUP D - COLD PATCH ASPHALT - STANDARD COLD PATCH ASPHALT (PICK-UP 10 TON MINIMUM) - CENTRAL WEST AREA		1,000	Ton	115	115,000.00
4.30 GROUP D - COLD PATCH ASPHALT - STANDARD COLD PATCH ASPHALT (DELIVERED) - CENTRAL WEST AREA		1,000	Ton	125	125,000.00
4.31 GROUP D - COLD PATCH ASPHALT - HIGH PERFORMANCE COLD PATCH ASPHALT (PICK-UP 10 TON MINIMUM) - CENTRAL WEST AREA		1,000	Ton	115	115,000.00
4.32 GROUP D - COLD PATCH ASPHALT - HIGH PERFORMANCE COLD PATCH ASPHALT (DELIVERED) - CENTRAL WEST AREA		20,000	Ton	125	2,500,000.00
4.33 GROUP D - COLD PATCH ASPHALT - HIGH PERFORMANCE HIGH RECYCLE COLD PATCH ASPHALT (PICK-UP 10 TON MINIMUM) - Specification Number:	1220040	20,000	Ton	122	2,440,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
CENTRAL WEST AREA					
4.34 GROUP D -		20,000	Ton	132	2,640,000.00
COLD PATCH		,			, ,
ASPHALT - HIGH					
PERFORMANCE					
HIGH RECYCLE					
COLD PATCH					
ASPHALT					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.35 GROUP D -		1,000	Pound	0.75	750.00
SEALER, JOINT,		1,000	1 ound	0.73	750.00
ASPHALT, HOT -					
POURED-HOT					
POURED JOINT					
SEALER					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.36 GROUP D -		40	Each	2,000	80,000.00
MISC. ROAD AND		40	Lacii	2,000	00,000.00
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (PICK-UP) -					
CENTRAL WEST					
AREA					
4.37 GROUP D -		40	Each	4,000	160,000.00
MISC. ROAD AND					'
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (DELIVERED)					
- CENTRAL WEST					
AREA					
4.38 GROUP D -		700,000	Ton	21	14,700,000.00
HAULING SERVICES					
- HAULING					
BITUMINOUS					
Specification Number	1220040				

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
MILLINGS FROM SITE TO PLANT - CENTRAL WEST AREA					
4.39 GROUP D - MISC. ROAD AND HIGHWAY BUILDING MATERIALS (ASPHALTIC) - CREDIT FOR CITY DELAY IN RELEASING CONTRACTOR;S TRUCK: INTERVAL OF DELAY (OVER INITIAL 1 HOUR) 1 TO 15 MINUTES (CREDIT IS \$50.00) - CENTRAL WEST AREA		3,000	Each	50	150,000.00
4.40 GROUP D - MISC. ROAD AND HIGHWAY BUILDING MATERIALS (ASPHALTIC) - CREDIT FOR CITY DELAY IN RELEASING CONTRACTOR;S TRUCK: INTERVAL OF DELAY (OVER INITIAL 1 HOUR) 16 TO 30 MINUTES (CREDIT IS \$75.00) - CENTRAL WEST AREA		3,000	Each	75	225,000.00
4.41 GROUP D - MISC. ROAD AND HIGHWAY BUILDING MATERIALS (ASPHALTIC) - CREDIT FOR CITY DELAY IN RELEASING CONTRACTOR¿S TRUCK: INTERVAL OF DELAY (OVER INITIAL 1 HOUR) 31 TO 45 MINUTES (CREDIT IS \$100.00) - CENTRAL WEST AREA		3,000	Each	100	300,000.00
4.42 GROUP D - MISC. ROAD AND		3,000	Each	125	375,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
	/ Job	Quantity		Price	
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
CREDIT FOR CITY					
DELAY IN					
RELEASING					
CONTRACTOR; S					
TRUCK: INTERVAL					
OF DELAY (OVER					
INITIAL 1 HOUR) 46					
TO 60 MINUTES					
(MAX CREDIT IS					
\$125.00) - CENTRAL					
WEST AREA					
4.43 GROUP D -		1,000	Ton	70	70,000.00
ASPHALT,		1,000	1011	, ,	, 3,000.00
PERVIOUS HOT MIX					
- PERVIOUS HOT					
MIX ASPHALT					
(CDOT) (PICK-UP) -					
CENTRAL WEST					
I .					
AREA		1 000	Т	00	00,000,00
4.44 GROUP D -		1,000	Ton	90	90,000.00
ASPHALT,					
PERVIOUS HOT MIX					
- PERVIOUS HOT					
MIX ASPHALT					
(CDOT)					
(DELIVERED) -					
CENTRAL WEST					
AREA					
4.45 GROUP D -		90,000	Ton	1	90,000.00
ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
WARM-MIX					
ASPHALT ADDITIVE					
(WMA) - CENTRAL					
WEST AREA					
4.46 GROUP D -		200	Ton	12	2,400.00
ASPHALT					,
PRODUCTS -					
GROUND-TIRE					
RUBBER MODIFIED					
ASPHALT (GTR) -					
CENTRAL WEST					
AREA					
4.47 GROUP D -		10,000	Each	4	40,000.00
HAULING SERVICES		10,000	Lacii	"	70,000.00
- LOW TONNAGE					
DELIVERY -					
CENTRAL WEST					
AREA		10.000	E1.	4	40,000,00
4.48 GROUP D -	1000010	10,000	Each	4	40,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
HAULING SERVICES - LOW VERTICAL CLEARANCE DELIVERY - CENTRAL WEST AREA		Quantity		THEC	
4.49 GROUP D - HOT MIX ASPHALT - HOT MIX ASPHALT, IL-4.75, N50 (CDOT) (PICK-UP) - CENTRAL WEST AREA		500	Ton	65	32,500.00
4.50 GROUP D - HOT MIX ASPHALT - HOT MIX ASPHALT, IL-4.75, N50 (CDOT) (DELIVERED) - CENTRAL WEST AREA		6,000	Ton	84	504,000.00
5 Group E -CENTRAL WEST AREA				No Response	
5.1 ASPHALT PRIMER, EMULSIFIED - PRIMERS, EMULSION (PICK-UP) SOUTH AREA	7450857 060	1,000	Gallon	3	3,000.00
5.2 GROUP E - ASPHALT PRIMER, EMULSIFIED - PRIMERS, EMULSION (DELIVERED) - SOUTH AREA		10,000	Gallon	4.6	46,000.00
5.3 GROUP E - ASPHALT PRIMER, EMULSIFIED - PRIMERS, EMULSION, 5 GALLON BUCKET (DELIVERED) - SOUTH AREA		1,000	Each	40	40,000.00
5.4 GROUP E - ASPHALT PRIMER, EMULSIFIED - PRIMERS, EMULSION, 55 GALLON DRUM (DELIVERED) - SOUTH AREA		10	Each	450	4,500.00
5.5 GROUP E - TRACKLESS, PRIMERS - PRIMERS,		10	Gallon	5.25	52.50

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
ED A CIVI EGG	/ Job	Quantity		Price	
TRACKLESS					
(PICK-UP) - SOUTH					
AREA			~ 44		
5.6 GROUP E -		80,000	Gallon	5.25	420,000.00
TRACKLESS,					
PRIMERS -					
PRIMERS,					
TRACKLESS					
(DELIVERED) -					
SOUTH AREA					
5.7 GROUP E -		400,000	Foot	10	4,000,000.00
TRACKLESS,					
PRIMERS -					
LONGITUDINAL					
JOINT SEALANT					
(HAND APPLIED					
METHOD FROM					
ROLL) (DELIVERED)					
- SOUTH AREA					
5.8 GROUP E -		1,000	Foot	8.2	8,200.00
TRACKLESS,					
PRIMERS -					
LONGITUDINAL					
JOINT SEALANT					
(PRESSURE					
DISTRIBUTOR OR					
MELTER KETTLE					
APPLIED)					
(DELIVERED) -					
SOUTH AREA					
5.9 GROUP E - HOT		4,000	Ton	59.6	238,400.00
MIX ASPHALT - HOT		,			
MIX ASPHALT					
SURFACE COURSE,					
IL-9.5LH, MIX ¿C¿,					
N30 (CDOT)					
(PICK-UP) - SOUTH					
AREA					
5.10 GROUP E - HOT		600,000	Ton	85	51,000,000.00
MIX ASPHALT - HOT	1	,			
MIX ASPHALT					
SURFACE COURSE,					
IL-9.5LH, MIX ¿C¿,					
N30 (CDOT)					
(DELIVERÉD) -					
SOUTH AREÁ					
5.11 GROUP E - HOT		5,000	Ton	51	255,000.00
MIX ASPHALT - HOT	1	, ´			,
MIX ASPHALT					
BINDER COURSE,					
IL-19.0L, N30 (CDOT)					
(PICK-UP) - SOUTH					
AREA					
5.12 GROUP E - HOT		5,000	Ton	82	410,000.00
MIX ASPHALT - HOT	-	,			,
MIX ASPHALT					
BINDER COURSE,					
Specification Number:	1229849		<u> </u>	1	ı

Specification Number: 1229849

Type of Funding: CITY

Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
IL-19.0L, N30 (CDOT) (DELIVERED) - SOUTH AREA	/ Job	Quantity		Price	
5.13 GROUP E - HOT MIX ASPHALT - HOT MIX ASPHALT BINDER COURSE, IL-19.0, N50 (PICK-UP) - SOUTH AREA		1,000	Ton	55	55,000.00
5.14 GROUP E - HOT MIX ASPHALT - HOT MIX ASPHALT BINDER COURSE, IL-19.0, N50 (DELIVERED) - SOUTH AREA		1,000	Ton	77	77,000.00
5.15 GROUP E - HOT MIX ASPHALT - HOT MIX ASPHALT SURFACE COURSE, MIX ¿D¿, N70 (PICK-UP) - SOUTH AREA		1,000	Ton	60	60,000.00
5.16 GROUP E - HOT MIX ASPHALT - HOT MIX ASPHALT SURFACE COURSE, MIX ¿D¿, N70 (DELIVERED) - SOUTH AREA		90,000	Ton	91	8,190,000.00
5.17 GROUP E - POLYMERIZED HOT MIX ASPHALT - STONE MATRIX ASPHALT, SURFACE COURSE, IL-9.5, MIX ¿F¿, N80 (PICK-UP) - SOUTH AREA		1,000	Ton	81	81,000.00
5.18 GROUP E - POLYMERIZED HOT MIX ASPHALT - STONE MATRIX ASPHALT, SURFACE COURSE, IL-9.5, MIX ¿F¿, N80 (DELIVERED) - SOUTH AREA		1,000	Ton	106.5	106,500.00
5.19 GROUP E - HOT MIX ASPHALT - HOT MIX ASPHALT FINE GRADED SURFACE COURSE, IL-9.5, MIX ¿D¿, N70 (CDOT) (PICK-UP) - SOUTH AREA		5,000	Ton	63	315,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
5.20 GROUP E - HOT	7 000	5,000	Ton	84	420,000.00
MIX ASPHALT - HOT		-,			,
MIX ASPHALT FINE					
GRADED SURFACE					
COURSE, IL-9.5, MIX					
¿D¿, N70 (CDOT)					
(DELIVERED) -					
SOUTH AREA					
5.21 GROUP E -		1,000	Ton	70	70,000.00
POLYMERIZED HOT		1,000	1011	10	70,000.00
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿E¿, N70					
(PICK-UP) - SOUTH					
AREA					
5.22 GROUP E -		1,000	Ton	94	94,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT					
SURFACE COURSE,					
MIX ¿E¿, N70					
(DELIVERED) -					
SOUTH AREÁ					
5.23 GROUP E -		500	Ton	72	36,000.00
POLYMERIZED HOT				-	
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT,					
IL-4.75, N50 (IDOT -					
DIST 1) (PICK-UP) -					
SOUTH AREA					
5.24 GROUP E -		6,000	Ton	96	576,000.00
		0,000	1011	90	370,000.00
POLYMERIZED HOT					
MIX ASPHALT -					
POLYMERIZED HOT					
MIX ASPHALT,					
IL-4.75, N50 (IDOT -					
DIST 1)					
(DELIVERED) -					
SOUTH AREA					
5.25 GROUP E - HOT		500	Ton	69	34,500.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
IL-4.75, N50 (CDOT)					
(PICK-UP) - SOUTH					
AREA					
5.26 GROUP E - HOT		6,000	Ton	93	558,000.00
MIX ASPHALT - HOT					
MIX ASPHALT					
SURFACE COURSE,					
IL-4.75, N50 (CDOT)					
(DELIVERED) -					
SOUTH AREA					
Specification Numbers	1000010			<u> </u>	

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target	Unit	Response	Amount
	/ Job	Quantity		Price	
5.27 GROUP E - HOT		1,000	Ton	53	53,000.00
MIX ASPHALT - HOT					
MIX ASPHALT BASE					
COURSE ECO-BAM					
(CDOT) (PICK-UP) -					
SOUTH ÀREA					
5.28 GROUP E - HOT		1,000	Ton	75	75,000.00
MIX ASPHALT - HOT		,			
MIX ASPHALT BASE					
COURSE ECO-BAM					
(CDOT)					
(DELIVERED) -					
SOUTH AREÁ					
5.29 GROUP E -		1,000	Ton	115	115,000.00
COLD PATCH		1,000	1011		115,000.00
ASPHALT -					
STANDARD COLD					
PATCH ASPHALT					
(PICK-UP 10 TON					
MINIMUM) - SOUTH					
AREA					
5.30 GROUP E -		1,000	Ton	140	140,000.00
COLD PATCH		1,000	1011	140	140,000.00
ASPHALT -					
STANDARD COLD					
PATCH ASPHALT					
(DELIVERED) -					
SOUTH AREA					
5.31 GROUP E -		1,000	Ton	115	115,000.00
COLD PATCH		1,000	1011	113	113,000.00
ASPHALT - HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT (PICK-UP					
10 TON MINIMUM) -					
SOUTH AREA					
5.32 GROUP E -		20,000	Ton	140	2,800,000.00
COLD PATCH		20,000	1011	140	2,800,000.00
ASPHALT - HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT					
(DELIVERED) -					
SOUTH AREA					
5.33 GROUP E -		20,000	Ton	125	2,500,000.00
COLD PATCH		20,000	1011	143	2,500,000.00
ASPHALT - HIGH					
PERFORMANCE					
HIGH RECYCLE					
COLD PATCH					
ASPHALT (PICK-UP					
10 TON MINIMUM) -					
SOUTH AREA					
		20,000	Ton	155	3,100,000.00
5.34 GROUP E -		∠0,000	1 011	133	3,100,000.00
COLD PATCH					
ASPHALT - HIGH					
PERFORMANCE Specification Number:	1220040				

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
	/ Job	Quantity		Price	
HIGH RECYCLE					
COLD PATCH					
ASPHALT					
(DELIVERED) -					
SOUTH AREA					
5.35 GROUP E -		1,000	Pound	0.75	750.00
SEALER, JOINT,					
ASPHALT, HOT -					
POURED-HOT					
POURED JOINT					
SEALER					
(DELIVERED) -					
SOUTH AREA					
5.36 GROUP E -		40	Each	2,000	80,000.00
MISC. ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (PICK-UP) -					
SOUTH AREA		40	г 1	4.000	160,000,00
5.37 GROUP E -		40	Each	4,000	160,000.00
MISC. ROAD AND					
HIGHWAY BUILDING					
MATERIALS					
(ASPHALTIC) -					
ADDITIONAL					
CHARGE FOR					
OPENING PLANT ON					
SATURDAY,					
SUNDAY OR					
HOLIDAYS OR					
SCHEDULED NIGHT					
WORK (DELIVERED)					
- SOUTH AREA					
5.38 GROUP E -		700,000	Ton	27	18,900,000.00
HAULING SERVICES		,			
- HAULING					
BITUMINOUS					
MILLINGS FROM					
SITE TO PLANT -					
SOUTH AREA					
5.39 GROUP E -		3,000	Each	50	150,000.00
MISC. ROAD AND		•			
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
CREDIT FOR CITY					
Specification Number	1220040				

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
DELAY IN RELEASING CONTRACTOR¿S TRUCK: INTERVAL OF DELAY (OVER INITIAL 1 HOUR) 1 TO 15 MINUTES (CREDIT IS \$50.00) - SOUTH AREA					
5.40 GROUP E - MISC. ROAD AND HIGHWAY BUILDING MATERIALS (ASPHALTIC) - CREDIT FOR CITY DELAY IN RELEASING CONTRACTOR¿S TRUCK: INTERVAL OF DELAY (OVER INITIAL 1 HOUR) 16 TO 30 MINUTES (CREDIT IS \$75.00) - SOUTH AREA		3,000	Each	75	225,000.00
5.41 GROUP E - MISC. ROAD AND HIGHWAY BUILDING MATERIALS (ASPHALTIC) - CREDIT FOR CITY DELAY IN RELEASING CONTRACTOR;S TRUCK: INTERVAL OF DELAY (OVER INITIAL 1 HOUR) 31 TO 45 MINUTES (CREDIT IS \$100.00) - SOUTH AREA		3,000	Each	100	300,000.00
5.42 GROUP E - MISC. ROAD AND HIGHWAY BUILDING MATERIALS (ASPHALTIC) - CREDIT FOR CITY DELAY IN RELEASING CONTRACTOR¿S TRUCK: INTERVAL OF DELAY (OVER INITIAL 1 HOUR) 46 TO 60 MINUTES (MAX CREDIT IS \$125.00) - SOUTH	1220940	3,000	Each	125	375,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
	/ Job	Quantity		Price	
AREA					
5.43 GROUP E -		1,000	Ton	70	70,000.00
ASPHALT,					
PERVIOUS HOT MIX					
- PERVIOUS HOT					
MIX ASPHALT					
(CDOT) (PICK-UP) -					
SOUTH AREA					
5.44 GROUP E -		1,000	Ton	99	99,000.00
ASPHALT,					
PERVIOUS HOT MIX					
- PERVIOUS HOT					
MIX ASPHALT					
(CDOT)					
(DELIVERED) -					
SOUTH AREA					
5.45 GROUP E -		90,000	Ton	1	90,000.00
ROAD AND					
HIGHWAY					
BUILDING					
MATERIALS					
(ASPHALTIC) -					
WARM-MIX					
ASPHALT ADDITIVE	,				
(WMA) - SOUTH					
AREA					
5.46 GROUP E -		200	Ton	12	2,400.00
ASPHALT					
PRODUCTS -					
GROUND-TIRE					
RUBBER MODIFIED					
ASPHALT (GTR) -					
SOUTH AREA					
5.47 GROUP E -		10,000	Each	4	40,000.00
HAULING SERVICES					
- LOW TONNAGE					
DELIVERY - SOUTH					
AREA					
5.48 GROUP E -		10,000	Each	4	40,000.00
HAULING SERVICES					
- LOW VERTICAL					
CLEARANCE					
DELIVERY - SOUTH					
AREA			_		22.500.00
5.49 GROUP E - HOT		500	Ton	65	32,500.00
MIX ASPHALT - HOT					
MIX ASPHALT,					
IL-4.75, N50 (CDOT)					
(PICK-UP) - SOUTH					
AREA		(000	T	90	524 000 00
5.50 GROUP E - HOT		6,000	Ton	89	534,000.00
MIX ASPHALT - HOT					
MIX ASPHALT,					
IL-4.75, N50 (CDOT)					
(DELIVERED) -					
SOUTH AREA					

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev	Target Quantity	Unit	Response Price	Amount
6 Group F -CITY WIDE	7 300	Quantity		No Response	
6.1 GROUP F - COLD		5,000	Each	40	200,000.00
PATCH ASPHALT -		3,000	Lucii	10	200,000.00
WATER ACTIVATED					
HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT (PICK-UP					
35 LB CONTAINER) -					
SPECIALIZED					
MATERIALS					
CITYWIDE					
6.2 GROUP F - COLD		5,000	Each	45	225,000.00
PATCH ASPHALT -		3,000	Lucii		223,000.00
WATER ACTIVATED					
HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT					
(DELIVERED 35 LB					
CONTAINER) -					
SPECIALIZED					
MATERIALS					
CITYWIDE					
6.3 GROUP F - COLD		5,000	Each	62	310,000.00
PATCH ASPHALT -					
WATER ACTIVATED					
HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT (PICK-UP					
50 LB CONTAINER) -					
SPECIALIZED					
MATERIALS					
CITYWIDE		5.000	P 1	. 	225 000 00
6.4 GROUP F - COLD		5,000	Each	67	335,000.00
PATCH ASPHALT -					
WATER ACTIVATED					
HIGH					
PERFORMANCE					
COLD PATCH ASPHALT					
(DELIVERED 50 LB					
CONTAINER)					
6.5 GROUP F - COLD		5,000	Each	67	335,000.00
PATCH ASPHALT -		, , , , , ,			,
WATER ACTIVATED					
HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT (PICK-UP					
55 LB CONTAINER) -					
SPECIALIZED					
MATERIALS					
CITYWIDE					
6.6 GROUP F - COLD Specification Number:	10000000	5,000	Each	72	360,000.00

Specification Number: 1229849

Type of Funding: CITY
Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH

Line	Item, Rev		Unit	Response	Amount
	/ Job	Quantity		Price	
PATCH ASPHALT -					
WATER ACTIVATED					
HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT					
(DELIVERED 55 LB					
CONTAINER) -					
SPECIALIZED					
MATERIALS					
CITYWIDE					
6.7 GROUP F - COLD		5,000	Each	45	225,000.00
PATCH ASPHALT -		,			,
HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT (PICK-UP					
50 LB CONTAINER) -					
SPECIALIZED					
MATERIALS					
CITYWIDE					
6.8 GROUP F - COLD		5,000	Each	50	250,000.00
PATCH ASPHALT -		3,000	Lacii	30	230,000.00
HIGH					
PERFORMANCE					
COLD PATCH					
ASPHALT					
(DELIVERED 50 LB					
CONTAINER) -					
SPECIALIZED					
MATERIALS					
CITYWIDE					

2.2 Line Details

2.2.1 Line 1.1 GROUP A - ASPHALT PRIMER, EMULSIFIED - PRIMERS, EMULSION (PICK-UP) - NORTHEAST AREA

Group A -NORTHEAST

AREA

Start Price (USD) Not Specified Category **74508..** Shopping Category Not Specified Minimum Release Not Specified Target Price (USD) Not Specified

Amount (USD)

Estimated Total Not Specified

Amount (USD)

2.2.2 Line 1.2 GROUP A - ASPHALT PRIMER, EMULSIFIED - PRIMERS, EMULSION (DELIVERED) - NORTHEAST AREA

Group A -NORTHEAST

AREA

Category **74508..** Start Price (USD) Not Specified Shopping Category Not Specified Target Price (USD) Not Specified

Page 60

Minimum Release Not Specified

Amount (USD)

Estimated Total Not Specified

Amount (USD)

Specification Number: 1229849

Type of Funding: CITY

Title: 1229849: ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH



SCHEDULE D-1 Compliance Plan Regarding MBEWBE Utilization Affidavit of Prime Contractor

ASPHALT PRIMERS, HOT/WARM MIX ASPHALT, HIGH PERFORMANCE/STANDARD

FOR
NON-CONSTRUCTION
PROJECTS ONLY

MUST BE SUBMITTED WITH THE BID. FAILURE TO SUBMIT THE SCHEDULE D-1 WILL CAUSE THE BID TO BE REJECTED. DUPLICATE AS NEEDED.

Project Name: COLD PATCH, HOT POUR JOINT SEALER MATERIALS, FURNISH & DELIVER Specification No.: 1229849 In connection with the above captioned contract, I HEREBY DECLARE AND AFFIRM that I am a duly authorized representative of MAT Asphalt, LLC (Name of Prime Consultant/Contractor) and that I have personally reviewed the material and facts set forth herein describing our proposed plan to achieve the MBE/WBE goals of this contract. All MBE/WBE firms included in this plan have been certified as such by the City of Chicago and/or Cook County, Illinois (Letters of Certification Attached). Direct Participation of MBE/WBE Firms: NOTE: The bidder/proposer shall, in determining the manner of MBE/WBE participation, first consider involvement with MBE/WBE firms as joint venture partners, subcontractors, and suppliers of goods and services directly related to the performance of this contract. If bidder/proposer is a joint venture and one or more joint venture partners are certified MBEs or WBEs, attach copies of Letters of Certification, Schedule B form and a copy of Joint Venture Agreement clearly describing the role of each MBE/WBE firm(s) and its ownership interest in the joint venture. B. Complete this section for each MBE/WBE Subcontractor/Supplier/Consultant participating on this contract: 1. Name of MBE/WBE: _Sanchez Paving Company Address: 16309 Crawford Avenue, Markham, IL. 60426 Contact Person: Otoniel Sanchez Phone Number: ___708-333-1300 Dollar Value of Participation \$ TBD Percentage of Participation % 8% MBE Mentor Protégé Agreement (attach executed copy): () Yes (X) No Add'l Percentage Claimed: 1 ____ % Total Participation % 8% Name of MBE/WBE: L&B Trucking Address: 4439 Wenonah Avenue, Stickney, IL.60402

Contact Person: Maria Martinez

¹ The Prime Contractor may claim an additional 0.5 percent participation credit (up to a maximum of five (5) percent) for every one (1) percent of the value of the contract performed by the MBE/WBE protégé firm.

	Phone Number: 708-516-2042
	Dollar Value of Participation \$ To Be Determined
	Percentage of Participation % _5%
	Mentor Protégé Agreement (attach executed copy): () Yes (X) No Add'l Percentage Claimed:%
	Total Participation % 5%
3.	Name of MBE/WBE: Mendoza Trucking
	Address:
	Contact Person:
	Phone Number:
	Dollar Value of Participation \$_ To be determined
	Percentage of Participation % _7% MBE
	Mentor Protégé Agreement (attach executed copy): () Yes (X) No Add'l Percentage Claimed:%
	Total Participation % 7%
4.	Name of MBE/WBE: CPMH Construction
	Address: 16800XC/AMANY AVOXMANNAMAIX 80428 3129 5. Shields AVL, Chicago, IL Goll
	Contact Person: Otto Mid Sanches Conrad Perez
	Phone Number: 708-883 1880 312 - 929 - 2345
	Dollar Value of Participation \$ To be deformined
	Percentage of Participation % / 10/0 VBE
	Mentor Protégé Agreement (attach executed copy): () Yes (X) No Add'l Percentage Claimed:%
	Total Participation % _1% VBE
5.	Attach Additional Sheets as Needed
II. Indirect Pa	articipation of MBE/WBE Firms
outlined in S demonstrate	section need not be completed if the MBE/WBE goals have been met through the direct participation section I. If the MBE/WBE goals have not been met through direct participation, Contractor is required to a Good Faith Efforts pursuant to the MBE/WBE Special Conditions in a request for a waiver or reduction of goals. Indirect participation may be considered as part of such Good Faith Efforts in support of the requested duction,
MBE/WBE Sub performance do	contractors/Suppliers/Consultants proposed to perform work or supply goods or services where such bes not directly relate to the performance of this contract:
1.	Name of MBE/WBE:
	Address:
	Contact Person:

	Phone Number:
	Dollar Value of Participation \$
	Percentage of Participation %
	Mentor Protégé Agreement (attach executed copy): () Yes () No Add'l Percentage Claimed:%
	Total Participation %
2.	Name of MBE/WBE:
	Address:
	Contact Person:
	Phone Number:
	Dollar Value of Participation \$
	Percentage of Participation %
	Mentor Protégé Agreement (attach executed copy): () Yes () No Add'l Percentage Claimed:%
	Total Participation %
3.	Name of MBE/WBE:
	Address:
	Contact Person:
	Phone Number:
	Dollar Value of Participation \$
	Percentage of Participation %
	Mentor Protégé Agreement (attach executed copy): () Yes () No Add'l Percentage Claimed:%
	Total Participation %
4.	Name of MBE/WBE:
	Address:
	Contact Person:
	Phone Number:
	Dollar Value of Participation \$
	Percentage of Participation %
	Mentor Protégé Agreement (attach executed copy): () Yes () No Add'l Percentage Claimed:%
	Total Participation %

5. Attach Additional Sheets as Needed

III. Summary of MBE/WBE Proposal

A. MBE Proposal (Direct & Indirect)

1. MBE Direct Participation

MBE Firm Name	Dollar Amount Participation (\$)	Percent Amount Participation (%)
Sanchez Paving	To be determined	8% MBE
CPMH Construction	To be determined	One% VBE
Mendoza Trucking	To be determined	7% MBE
Total Direct MBE Participation		Sixteen %

2. MBE Indirect Participation

MBE Firm Name	Dollar Amount Participation (\$)	Percent Amount Participation (%)
Total Indirect MBE Participation		

B. WBE Proposal (Direct & Indirect)

1. WBE Direct Participation

WBE Firm Name	Dollar Amount Participation (\$)	Percent Amount Participation (%)
L&B Trucking	To be determined	5% WBE
Total Direct WBE Participation		5% WBE

2. WBE Indirect Participation

WBE Firm Name	Dollar Amount Participation (\$)	Percent Amount Participation (%)
Total Indirect WBE Participation		

The Prime Contractor designates the following person as its	MBENVBE Liaison Officer:
Michael Tadin Jr.	
(Name- Please Print or Type)	(Phone)
One or more owners or principals of the Prime Contractor (or WBE listed in this Schedule D. Provide names of such indicidentify the MBE/WBE firms in which such ownership is held, on None	viduals and their respective ownership percentages, and
I DO SOLEMNLY DECLARE AND AFFIRM UNDER PENFOREGOING DOCUMENT ARE TRUE AND CORRECT, THAT I AM AUTHORIZED ON BEHALF OF THE PRIME CO	HAT NO MATERIAL FACTS HAVE BEEN OMITTED, AND
MAT Asphalt, LLC.	Windle
(Name of Prime Contractor – Print or Type)	State of: Illinolis
(Signature)	County of: Cook
Craig R. Ockerlund / Secretary (Name/Title of Affiant – Print or Type)	
2-23-2022	
(Date) On this 3 day of Feb, 2027, the above signed office	cer (RAIS R OKENLING)
	(Name of Affiant)
personally appeared and, known by me to be the person descrexecuted the same in the capacity stated therein and for the pu	
IN WITNESS WHEREOF, I hereunto set my hand and seal.	
Kelenal to Tal	
(Notary Public Signature)	
Commission Expires: 3-4-202,	SEAL: OFFICIAL SEAL DEBORAH M TADIN NOTARY PUBLIC, STATE OF ILLINOIS MY COMMISSION EXPIRES: 02/04/2025



DEPARTMENT OF PROCUREMENT SERVICES

NOV 05 2020

Maria Martinez L & B Trucking, Inc. 4439 Wenonah Avenue Stickney, Illinois 60402

Dear Ms. Martinez:

We are pleased to inform you that L & B Trucking, Inc. has been recertified as a Minority-Owned Business Enterprise (MBE) and Women-Owned Business Enterprise ("WBE") by the City of Chicago ("City"). This MBE/WBE certification is valid until 10/15/2025; however, your firm's certification must be revalidated annually. In the past the City has provided you with an annual letter confirming your certification; such letters will no longer be issued. Therefore, we require you to be even more diligent in filing your annual No-Change Affidavit 60 days before your annual anniversary date.

It is now your responsibility to check the City's certification directory and verify your certification status. As a condition of continued certification during the five year period stated above, you must file an annual No-Change Affidavit. Your firm's annual No-Change Affidavit is due by 10/15/2021, 10/15/2022, 10/15/2023 and 10/15/2024. Please remember, you have an affirmative duty to file your No-Change Affidavit 60 days prior to the date of expiration. Failure to file your annual No-Change Affidavit may result in the suspension or rescission of your certification.

Your firm's five year certification will expire on 10/15/2025. You have an affirmative duty to file for recertification 60 days prior to the date of the five year anniversary date. Therefore, you must file for recertification by 8/15/2025.

It is important to note that you also have an ongoing affirmative duty to notify the City of any changes in ownership or control of your firm, or any other fact affecting your firm's eligibility for certification within 10 days of such change. These changes may include but are not limited to a change of address, change of business structure, change in ownership or ownership structure, change of business operations, gross receipts and or personal net worth that exceed the program threshold. Failure to provide the City with timely notice of such changes may result in the suspension or rescission of your certification. In addition, you may be liable for civil penalties under Chapter 1-22, "False Claims", of the Municipal Code of Chicago.

Please note – you shall be deemed to have had your certification lapse and will be ineligible to participate as a **MBE/WBE** if you fail to:

- File your annual No-Change Affidavit within the required time period;
- Provide financial or other records requested pursuant to an audit within the required time period;



- Notify the City of any changes affecting your firm's certification within 10 days of such change; or
- File your recertification within the required time period.

Please be reminded of your contractual obligation to cooperate with the City with respect to any reviews, audits or investigation of its contracts and affirmative action programs. We strongly encourage you to assist us in maintaining the integrity of our programs by reporting instances or suspicions of fraud or abuse to the City's Inspector General at chicagoinspectorgeneral.org, or 866-IG-TIPLINE (866-448-4754).

Be advised that if you or your firm is found to be involved in certification, bidding and/or contractual fraud or abuse, the City will pursue decertification and debarment. In addition to any other penalty imposed by law, any person who knowingly obtains, or knowingly assists another in obtaining a contract with the City by falsely representing the individual or entity, or the individual or entity assisted is guilty of a misdemeanor, punishable by incarceration in the county jail for a period not to exceed six months, or a fine of not less than \$5,000 and not more than \$10,000 or both.

Your firm's name will be listed in the City's Directory of Minority and Women-Owned Business Enterprises in the specialty area(s) of:

NAICS Codes:

484220 - Trucking, Specialized Freight (except used goods), Local

484220 - Dump Trucking (e.g., gravel, sand, top soil)

484220 - Flatbed Trucking, Local

484220 - Top-Soil Hauling, Local

484220 - Gravel Hauling, Local

484220 - Sand Hauling, Local

484110 - Trucking, General Freight, Local

Your firm's participation on City contracts will be credited only toward **MBE/WBE** goals in your area(s) of specialty. While your participation on City contracts is not limited to your area of specialty, credit toward goals will be given only for work that is self-performed and providing a commercially useful function that is done in the approved specialty category.

Thank you for your interest in the City's Minority, Women-Owned Business Enterprise, Veteran-Owned Business Enterprise and Business Enterprise Owned or Operated by People with Disabilities (MBE/WBE/BEPD) Program.

Sincerely,

Shannon E. Andrews Chief Procurement Officer

Sm 9. MM

SEA/vlw